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0.05 11 0.06
-9 H 19] 09615 1 1
-8 H 20| 09246 1 1
7 H 21| 08830 1 1
-6 H 22| 08548 2 1
-5 H_ 23] 08219 2 1
-4 H 24| 07903 3 2
-3 H 25 07599 3 2
-2 H 26| 07307 4 3
-1 H 27] 07026 16 11
H 28] 06756 0.06 0.04
1 H 29| 0649 0.06 0.04
2 H 30| 06246 0.06 0.04
3 H 31| 06006 0.06 0.04
4 H_ 32| 05775 0.06 0.03
5 H 33| 05553 0.06 0.03
6 H 34 05339 0.06 0.03
7 H 35| 05134 0.06 0.03
8 H 36| 04936 0.06 0.03
9 H 37| 04746 0.06 0.03
10 H 38| 04564 0.06 0.03
11 H 39| 04388 0.06 0.03
12 H 40| 04220 0.06 0.02
13 H 41| 04057 0.06 0.02
14 H 42| 03901 0.06 0.02
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16 H 44| 03607 0.06 0.02
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28 H 56| 02253 0.06 0.01
29 H 57] 02166 0.06 0.01
30 H 58] 02083 0.06 0.01
31 H 59 02003 0.06 0.01
32 H 60| 01926 0.06 0.01
33 H 61| 01852 0.06 0.01
34 H 62| 01780 0.06 0.01
35 H 63| 01712 0.06 0.01
36 H 64| 01646 0.06 0.01
37 H 65 01583 0.06 0.01
38 H 66| 01522 0.06 0.01
39 H 67] 01463 -1 0.06 0.01
31 22 2 1
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A x (A) (A)x x (A) %
H 28] 1.00561 | 0.99729 | 1.00286 0.6756 1 0 1 0 3 2 0 0 0 0 0 0 0 0 3 2

1 H 29] 1.00558 | 0.99728 [ 1.00285 0.6496 1 0 1 0 3 2| 0 0 0 0 0 0 0 0 3 2|

2 H 30] 1.00555 | 0.99727 | 1.00284 0.6246 1 0 1 0 3 2 0 0 0 0 0 0 0 0 3 2

3 H 31] 1.00551 | 0.99727 | 1.00283 0.6006 1 0 1 0 3 2| 0 0 0 0 0 0 0 0 3 2|

4 H 32] 1.00548 | 0.99726 | 1.00282 0.5775 1 0 1 0 3 1 0 0 0 0 0 0 0 0 3 2

5 H 33] 0.99991 | 0.99494 [ 0.99831 0.5553 1 0 1 0 3 1] 0 0 0 0 0 0 0 0 3 2|

6 H 34] 0.99991 | 0.99491 | 0.99831 0.5339 1 0 1 0 3 1 0 0 0 0 0 0 0 0 3 2

7 H 35] 0.99991 | 0.99489 [ 0.99831 0.5134 1 0 1 0 3 1] 0 0 0 0 0 0 0 0 3 2|

8 H 36] 0.99991 | 0.99486 | 0.99830 0.4936 1 0 1 0 3 1 0 0 0 0 0 0 0 0 3 2

9 H 37] 0.99991 | 0.99484 [ 0.99830 0.4746 1 0 1 0 3 1] 0 0 0 0 0 0 0 0 3 2|

10 H 38] 0.99991 | 0.99481 | 0.99830 0.4564 1 0 1 0 3 1 0 0 0 0 0 0 0 0 3 2
11 H 39] 0.99991 | 0.99478 [ 0.99830 0.4388 1 0 1 0 3 1] 0 0 0 0 0 0 0 0 3 1]
12 H 40] 0.99991 | 0.99475 | 0.99829 0.4220 1 0 1 0 3 1 0 0 0 0 0 0 0 0 3 1
13 H 41] 0.99991 | 0.99473 [ 0.99829 0.4057 1 0 1 0 2 1] 0 0 0 0 0 0 0 0 3 1]
14 H 42] 0.99991 | 0.99470 | 0.99829 0.3901 1 0 1 0 2 1 0 0 0 0 0 0 0 0 3 1
15 H 43] 0.99692 | 0.99482 [ 0.99627 0.3751 1 0 1 0 2 1] 0 0 0 0 0 0 0 0 3 1]
16 H 44] 0.99691 | 0.99479 | 0.99626 0.3607 1 0 1 0 2 1 0 0 0 0 0 0 0 0 3 1
17 H 45] 0.99690 | 0.99477 | 0.99624 0.3468 1 0 1 0 2 1] 0 0 0 0 0 0 0 0 3 1]
18 H 46] 0.99689 | 0.99474 | 0.99623 0.3335 1 0 1 0 2 1 0 0 0 0 0 0 0 0 3 1
19 H 47] 0.99688 | 0.99471 [ 0.99621 0.3207 1 0 1 0 2 1] 0 0 0 0 0 0 0 0 3 1]
20 H 48] 0.99687 | 0.99468 | 0.99620 0.3083 1 0 1 0 2 1 0 0 0 0 0 0 0 0 3 1
21 H 49] 0.99686 | 0.99466 [ 0.99618 0.2965 1 0 1 0 2 1] 0 0 0 0 0 0 0 0 3 1]
22 H 50] 0.99685 | 0.99463 | 0.99617 0.2851 1 0 1 0 2 1 0 0 0 0 0 0 0 0 3 1
23 H 51] 0.99684 | 0.99460 [ 0.99616 0.2741 1 0 1 0 2 1] 0 0 0 0 0 0 0 0 3 1]
24 H 52] 0.99683 | 0.99457 | 0.99614 0.2636 1 0 1 0 2 1 0 0 0 0 0 0 0 0 3 1
25 H 53] 0.99613 | 0.99715 [ 0.99644 0.2534 1 0 1 0 2 1] 0 0 0 0 0 0 0 0 3 1]
26 H 54] 0.99611 | 0.99714 | 0.99643 0.2437 1 0 1 0 2 1 0 0 0 0 0 0 0 0 3 1
27 H 55] 0.99610 | 0.99714 [ 0.99642 0.2343 1 0 1 0 2 1] 0 0 0 0 0 0 0 0 3 1]
28 H 56] 0.99608 | 0.99713 | 0.99640 0.2253 1 0 1 0 2 1 0 0 0 0 0 0 0 0 3 1
29 H 57] 0.99607 | 0.99712 [ 0.99639 0.2166 1 0 1 0 2 1] 0 0 0 0 0 0 0 0 3 1]
30 H 58] 0.99605 | 0.99711 | 0.99638 0.2083 1 0 1 0 2 0 0 0 0 0 0 0 0 0 3 1
31 H 59] 0.99604 | 0.99710 [ 0.99636 0.2003 1 0 1 0 2 0 0 0 0 0 0 0 0 0 3 1]
32 H 60] 0.99602 | 0.99709 | 0.99635 0.1926 1 0 1 0 2 0 0 0 0 0 0 0 0 0 3 1
33 H 61] 0.99600 | 0.99709 [ 0.99634 0.1852 1 0 1 0 2 0 0 0 0 0 0 0 0 0 3 1]
34 H 62] 0.99599 | 0.99708 | 0.99632 0.1780 1 0 1 0 2 0 0 0 0 0 0 0 0 0 3 1
35 H 63] 0.99597 | 0.99707 [ 0.99631 0.1712 1 0 1 0 2 0 0 0 0 0 0 0 0 0 3 1]
36 H 64] 0.99194 | 0.99414 | 0.99262 0.1646 1 0 1 0 2 0 0 0 0 0 0 0 0 0 3 0
37 H 65] 0.98792 | 0.99121 [ 0.98893 0.1583 1 0 1 0 2 0 0 0 0 0 0 0 0 0 3 0
38 H 66] 0.98389 | 0.98827 | 0.98524 0.1522 1 0 1 0 2 0 0 0 0 0 0 0 0 0 3 0
39 H 67] 0.97986 | 0.98534 [ 0.98155 0.1463 1 0 1 0 2 0 0 0 0 0 0 0 0 0 3 0
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